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PRoBLEH 1t X=Banoch space A X=X Lintar operotor
and {AW@),xYy = LABYUT \fx!u.e-x, Show
that Ae L (XY).

YroBLEM &: Y = Banach spatce )\/97( vector subspace, U€ X~

Show that 3 wreX* uxl,=1 ond
4u';u>:o\(u,\l) , u“]v-:o.
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TROBLEM 3! X=Banach space. Show that {he follow
e.quwtﬂcn}
ca) X = Rcf(ex\\leg

(b) every decrrosing drquence i Cy &nemm:
and bounded st

nenempty, fosed , convex

has a nonempty intersection

YeoBLEM LP.' th’lflmﬁ‘ dimenstonal dangch spoce agno

s reflexive. Show thod 5%?’ 95}131
nei

such thot un—-“‘—'-»o.

YrosreM 5: Show thot every normed Spoce 15 a dense

Vt‘tc‘}'b‘( f)k&hj"}uc‘f of- o ﬁm’ﬁ(’.l(h spoce.



